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Seat No.: _____                                                         Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL  UNIVERSITY 
Diploma  Semester -IV  Remedial Examination December - 2010 

 

Subject code: 341904                   Subject Name: Theory of Machines 
Date: 16 /12 /2010                                Time:  02.30 pm – 05.00 pm 

                  Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 
 

Q.1  (a) What is kinematic pair? Classify various types of kinematic pairs. Explain 

them with neat sketches. 
07 

 (b) Sketch and explain the crank and slotted lever type quick return mechanism. 07 

    

Q.2  (a) Describe with diagrams-(1) Open belt drive. (2) Crossed belt drive. (3) 

Compound belt drive. 
03 

  (b) What is slip in the belt drive? Explain the effect of slip on velocity ratio and 

power transmission by belt. 
04 

 (c) Explain the working of single plate disc clutch with neat sketch. 07 

  OR  

 (c) Explain the principle, working and use of rope brake dynamometer with a 

sketch. Derive the expression for brake power.                                         
07 

 

 

   

Q.3  (a) In a four bar chain ABCD, AD is a fixed link and is 150 mm long. The 

crank AB is 40 mm long and rotates at 120 RPM clockwise, while link 

CD=80mm oscillates about D.BC and AD are of equal length. Find angular 

velocity of link CD when angle BAD is 60
0
. 

07 

 (b) A flat collar bearing has external and internal radii 250 mm and 125 mm 

respectively. It has coefficient of friction 0.12 and transmits 25 KN vertical 

load at 100 RPM on single collar. Determine power lost in friction 

assuming uniform pressure as well as uniform wear. 

07 

  OR  

Q.3  (a) A single slider mechanism has crank and connecting rod 100mm and 400 

mm respectively.A point E on connecting rod is at a distance of 180 mm 

from crosshead end.If RPM of engine is 400 and crank makes 45
0
 angle 

from IDC detrmine  using Klein’s contruction method: (1) Velocity of 

slider. (2) Acceleration of slider. (3) Velocity of point E. (4) Acceleration of 

point E. 

07 

 (b) Derive an expression for frictional torque and power lost in friction for flat 

collar bearing assuming conditions of uniform pressure and uniform wear.                                                                                                                                                                                     
07 

Q.4  (a)  Draw a profile of cam with roller follower using following data: 

1. Base circle diameter of cam- 50 mm. 

2. Follower lift-30 mm 

3. Roller diameter-15 mm. 

4. Angle of rise 1200 with Simple harmonic motion. 

5. Angle of dwell 300 at lifted position 
6. Angle of fall 1200 with uniform acceleration and retardation. 

Follower is at rest for the remaining period. The cam is rotating in 

clockwise direction. 

07 
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  (b) Define following terms: 

(1) Coefficient of friction.(2) Train value (3) Sensitivity of governor. (4) 
Inversion of mechanism (5) Governor Effort. (6) Fluctuations of energy. 

(7) Resonance. 

07 

  OR  

Q.4  (a) What is cam? Sketch and explain any five types of cam followers. 07 

 (b) Determine power transmitted by flat belt running over a pulley of 600 mm 

diameter at 200 RPM. Coefficient of friction between the belt and pulley is 

0.25, angle of lap 160
0
 and maximum tension in the belt should not exceed 

2500 N 

07 

    

Q.5  (a) The turning moment diagram for a multi-cylinder engine has been drawn to 

scale 1 mm = 600 Nm on Y-axis and 1 mm = 30 on X axis. The area of 

output torque curve  taken in order are as following: 

+52,-124, +92,-140,+85,-72 and +107  mm
2
. 

The engine is running at speed of 600 RPM. Total fluctuations of speed is 

not exceeding   ±1.5% of the mean, find mass of flywheel, if radius of 

flywheel  is 0.5 m. 

07 

 (b) Explain the balancing of several masses rotating in the same plane. 

Describe any one procedure of finding the magnitude and position of 

balancing mass. 

07 

  OR  

Q.5  (a) Explain the differences between flywheel and governor 07 

 (b) Classify the various types of vibrations. What causes vibrations ?State the 

measures to reduce the effect of vibrations 
07 

 
Q 1 (a) કાઈનેમે
ટક પેર એટલે � ું?િવિવધ �કારની કાઈનેમે
ટક પેર� વગ�કરણ કરોુ .�રખ ુ  

આ"િત $ારા તેમનેૃ  સમ'વો. 

07 

 (b) (ક અને *લોટડ લીવર �કારની ,-વક
રટન. િમકનીઝમનીઆ"િત0   ૃ  દોર2 સમ'વો. 07 

    

Q 2 (a) ડાયા4ામ દોર2 સમ'વો  

(1) ઓપન બ:ેટ;ાઇવ (2) (ોસ બે:ટ;ાઇવ  

(3) કંપાઉ@ડ બ:ેટ;ાઇવ. 

03 
 
 

 (b) બે:ટ;ાઇવમા ં*લીપ એટલે �ં?ુ વેગ AણોBર ુ અને બ:ેટ $ારા થતા પાવર 

Dા@સમીસન પર *લીપની  અસર સમ'વો 

  
04 

    

 (c) િસEગલ Fલેટ 
ડ*ક -લચ� કાય. *વHછ આ"િત $ારા સમ'વોુ ૃ . 07 

  અથવા  

 (c) રોપJેક ડાયનેમોમીટરનો િસધા@ત,કાય. અને ઉપયોગ આ"િત $ારાૃ  સમ'વો. 

Jેકપાવર� ં�K મેળવોુ ૂ . 

07 

Q 3 (a) ફોરબાર ચેન A B C D  મા ંA D  
ફ-સ SલEક છે અને તે 150 m m  લબંાઈની 

છે.(ક 0 A B 40 m m   લબંાઈની છે અને તે -લો-વાઈઝ 
દશામા ં120 R P M  ફર  

છે [યાર SલEક  C D = 80 m m  ની છે અને D ની અ^બા^ હલનચલન કર છેુ ુ  . B 

C અને A D સરખી લબંાઇની છે [યાર `ણો  ૂ B A D   600 પર હોય bયાર  C D   

SલEક ની કોણીય ગિત શોધો. 

07 
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 (b) સપાટ કોલર બે
રEગ cદરની અને બાહરની િK[યા 250 m m  અને 125m m   

તેનો કોએફ2િસએ@ટ ઓફ d2-શન 0.12 છે અને તે 25 K N  વટfકલ લોડ 100 RPM 

પર એક કોલર વહન કરછે .તો gિનફોમ. દબાણ અને gિનફોમ. ઘસાુ ુ રા ની ધારણા થી  

d2-શનમા ંવપરાતો પાવર શોધો. 

07 

  અથવા  

Q 3 (a) િસEગલ *લાઈડર િમકિનઝમની (કઅને કનેક
ટEગ રોડ  0 100 m m  અને 400  m m  

અ�(મે છેુ .  કનેક
ટEગ રોડ પર SબEi ુ E  (ોસ હડ છેડા થી  180 m m  iર છેૂ . જો 

lmજનના R P M  400 હોય અને (ક 0 ID C  થી 450ના `ણે હોયૂ  તો -લીન ની 

રચનાનો ઉપયોગ કર2 ને શોધો (૧) *લાઈડર નો વેગ  (૨) *લાઈડર નો �વેગ  

(૩)  SબEi ુ E  નો વેગ  (૪)  SબEi ુ E  નો �વેગ. 

07 

 (b) સપાટ કોલર બે
રEગમા ંgિનફોમ. દબાણ અને gિનફોમ. ઘસારા ની ધારણા થી d2-શન ુ ુ

ટોક. અને d2-શનમા ંવપરાતો પાવરના �Kો મેળવોૂ . 

07 

Q  4  (a) રોલર ફોલોઅર સાથેની કમ નો નીચેની મા
હિત નો ઉપયોગ   કર2 �ોફાઇલ દોરો.  

1. બેઝ સક.લ નો sયાસ 50 mm   

2. ફોલોવર લીtટ -30 mm   

3. રોલર નો sયાસ -15 mm   

4. lગલ ઓફ રાઈઝ -120૦ િસEપલ હારમોિનક ગિત સાથે. 

5. lગલ ઓફ wવેલ -30 ૦ ઉચકાયેલી ,*થિતમા.ં 

6. lગલ ઓફ ફોલ -120 ૦ gિનફોમ. �વેગ અને �િતુ -�વેગ સાથે. બાક2ના 

સમય માટ ફોલોવર ,*થર રહછે  .કમ  -લો-વાઈઝ 
દશામા ંફર છે . 

07 

  (b) નીચેના પદોની sયાxયા આપો .                                                                      

(1)કોએફ2િસએ@ટ ઓફ d2-શન.(2) Dન વૅ:g  ુ (3) સzિસટ2વીટ2 ઓફ ગવન.ર 

(4)ઇનવરઝન ઓફ િમકિનઝમ  (5) ગવન.ર નો �યbન (6) એનજ�ની વધગટ 

(7)રઝોન@સ . 

07 

  અથવા  

Q 4  (a) ક મ એટલે � ંઅને કોઈપણ પાચં �કારના કમ ફોલોઅસ. નીુ   આ"િત દોરો અને ૃ

સમ'વો  

07 

  (b) 600 m  m  ની |લીપર ૂ 200 R P M  થી ફરતા બે:ટ$ારા થતા પાવર Dા@સિમશન 

શોધો. બ:ેટ અને |લી વHચે કોએફ2િસએુ @ટ ઓફ d2-શન 0.25 છે.lગલ ઓફ લપે 

1600 છે.બ:ેટમા ંમહBમ ટસન0  2500 N થીવધ} ંજોઈએ ન
હુ . 

07 

 (b) એકજ Fલેનમા ંરોટટ થતા ^દા ^દા દળો� ંબેલે,@સ~ગ કમ થાય તે સમ'વો  ુ ુ ુ . 

બેલે@સ થતા દળો� ંમાપ અને ,*થિત શોધવાની કોઇ પણ એક ર2ત વણ.વોુ . 

 07 

  અથવા  

Q 5 (a) tલાયવીલ અને ગવન.ર વHચેના તફાવતો સમજવો.  07 

 (b) િવિવધ �કારના વાઈJેશન� ંવગ�કરણ કરોુ .વાઈJેશન કવી ર2તે ઉbપન થાયછે  ? 

વાઈJેશનની અસર ઓછ2 કરવાના ઉપાયો જણાવો. 

07 

********* 


